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Ni = Bo + P1x1; + -+ BnXni

(3) IN—F3 : JUYOBEH Link Function
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A = exp(n;)
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t 1+exp(n;)
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yi ~ Po(4;)
A; = exp(n;)
ni = Bo + P1X1; + -+ PnXni

(2) D€y MEDE : BHIOOHEDDMBEEETILL
HALOOH 1= OB 2] & EFMET 5,
yi ~ Po(4;)

A = exp(1;)
Ni = Bo + Prxa; + -+ + Buxp + log(a;)
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( yi ~ Po(4;)

{ = =-exp(n;)

a;
L r]l{ = Po + P1x1;i + -+ PnXni
(yi ~ Po(4;)

A =exp(n;) X a;
= exp(n; + log(a;))

| i = Bo+ Baxai + o+ By
ZIZT.ni=nltlogla) tBEEHZD L
[ i~ Po(&)

& {1 A =expm)

Ni = Po + Prxai + -+ + Bpxni +log(a;)
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Y ADty FEORIR
Ni = Po+ P1xy; + -+ Prxn; +log(a;)

= Bo + B1x1;i + -+ BruXni + X(nt1)i
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fit <- glm(y ~ x1 + x2, offset = log(a), data = data, family = poisson)
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